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Les modalités épistémique et radicale:

Translate the following sentences resorting to a modal auxiliary verb for each underlined structure.

=2 a. La mousse pousse partout ou se trouve de I’ombre, donc on ne devrait pas s’y fier.

S

b. La derniére fois que je me suis retrouvé avec des sangsues sur les jambes et les bras, je les
E ai saupoudrées de sel mais elles refusaient de lacher prise.
=3
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= c. ILn’est pas nécessaire de les arracher cependant: on peut attendre qu’elles tombent.
= d. Il ne faut pas tenter d’aspirer le poison d’une morsure de serpent: il se pourrait que la plaie =
s’infecte. ¢ =
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Les modalités épistémique et radicale;

Translate the following sentences resorting to a modal auxiliary verb for each underlined structure.

a. La mousse pousse partout ot se trouve de 1’ombre, donc on ne devrait pas s’y fier.
Moss will grow wherever shade may be found, so onc gshould not rely on it.

b. La derniére fois que je me suis retrouvé avec des sangsues sur les jambes et les bras, je les
ai saupoudrées de sel mais elles refusaient de lacher prise.

Last time I found myself with leeches on my legs and arms, I sprinkled salt over them but
they would not let go.

c. Il n’est pas nécessaire de les arracher cependant: on peut attendre qu’elles tombent.
You don’t have to rip them off though: you can wait for them to drop.

d. Il ne faut pas tenter d’aspirer le poison d’une morsure de serpent: il se pourrait que la plaie
s’infecte.

You must not try and suck the poison out of a snakebite: the wound might get infected.
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Les modalités épistémique et radicale:

- Translate the following sentences resorting to a modal auxiliary verb for each underlined structure.

a. La mousse pousse partout ou se trouve de I’ombre, donc on ne devrait pas s’y fier.
Moss will grow wherever shade may be found, so one should not rely on it.

i
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b. La derni¢re fois que je me suis retrouve avec des sangsues sur les jambes et les bras, je les
ai saupoudrées de sel mais elles refusaient de lacher prise.

Last time I found myself with leeches on my legs and arms, [ sprinkled salt over them but
they would not let go.
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c. [l n’est pas nécessaire de les arracher cependant: on peut attendre qu’elles tombent. o =
You don’t have to rip them off though: you can wait for them to drop. - e T |

d. Il ne faut pas tenter d’aspirer le poison d’une morsure de serpent: il se pourrait que la plaie
s’infecte.
You must not try and suck the poison out of a snakebite: the wound might get infected.




47 13S5LV. Anglais (maths)

Université
d’ORLEANS

Looking for solutions in foréign places

You're stranded in a huge rainforest and you've
eaten a poisonous mushroom.

stk

The antidote is excreted by a certain species of frog
but only the female produces it. =

The male and female occur in equal numbers and oo
look identical. ]
The only detail that can tell them apart is the male’s
To your left is a frog on a tree stump.
To your right is a clearing with two frogs and you
just heard a male croak coming from it.
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You only have time to go in one direction before you
collapse. o

Which way would you go? e e

What are your chances of survival if you head : e

I

for the clearing and lick both frogs?
What are the odds if you go to the tree stump?
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Solution: Clearing

There are two common incorrect ways of solving the —

problem. =
B -
=25 Wrong answer number one: |
-~ Assuming there’s a roughly equal number of males and
:.,, females, the probability of any one frog being either sex is
Ee one in two, which is 0.5 or 50%. And since all frogs are

independent of each other. the chance of any one of them
being female should still be 50% each time you choose.
This logic is correct for the tree stump, but not for the
clearing.

i

Wrong answer number two:

First you saw two frogs in the clearing. Now you’ve learned
: that at least one of them is male, but what are the chances
- common incorrect way one — that both are?

; If the probability of each individual frog being male is 0.5,
then multiplying the two together will give you 0.25, which
is one in four, or 25%. So you have a 75% chance of getting
at least one female and receiving the antidote — wrong!

L
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common incorrect way tw
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Solution: Clearing . e
Here is the right answer: :

Going to the clearing gives you a two in three chance of
survival or about 67%. because of conditional
probability.

When we first see the two frogs, there are several possible
combinations of male and female (male-female. male-male.
female-female, female-male). This is the sample space.
Out of the four possible combinations, only one has two
males.

So why was the answer of 75% wrong? =]
Because the croak gives us additional information. As soon
as we know that one of the frogs is male, that tells us there
can’t be a pair of females, which means we can eliminate that
possibility from the sample space, leaving us with three
possible combinations. Of them. one still has two males.
giving us our two in three, or 67% chance of getting a
female.

This is how conditional probability works. You start off with
a large sample space that includes every possibility. But
every additional piece of information allows you to eliminate
possibilities, shrinking the sample space and increasing the =
probability of getting a particular combination. The point is
that information affects probability.
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Did you survive the reading of the short story ?

Read the entire short story and consider the following questions:

1. How would you sum up the story in one sentence?

2. What means and strategies does the text resort to in order to “convince you”?

How does it echo Catherine Conan’s claim that:
“direct references to climate change and environmental crisis are not the most efficient ways of
involving the reader [...]. They may even be counter-productive. Ecological value is created when
the experience of reading the poems stimulates in the reader the sense of the porousness of the self
and its entanglement with other objects” (Catherine Conan. 2021, 20)

3. According to you, what does the title, “The Extrication,” mean?

4. You may rehearse the monologue and get ready to perform it. .
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THE GLASSY,
BURNING
FLOOR or HELL

Did you survive the reading of the short story ?

Summary :

The anonymous character is being held hostage by the narrator, who
happens to be a mad scientist. The latter is used to carrying out
experiments on his patients, in order to “extricate” them from humanity —
in other words, to transform their bodies so they can adapt to the toxic
environment of the new world after the environmental collapse. The
scientist wishes to convince his new victim that he is doing the right thing,
as he draws inspiration from the early days of the world and their
undifferentiated lifeforms. But as he tests his cure, he only cares about
himself and his own survival — he is just another example of the deadliness
of human egocentrism.
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Did you survive the reading of the short story ?

e p ek How is the reader (ecologically) involved in the text ?

tHE GLASSY, 4 =
BURNING |
FLOOR or HELL

* The reader is directly addressed in the second person
T the ety s of s word. s e ot it ¢ i e 0 s * Their empathy for the environment is called upon through anthropomorphism
; 1 Example:
“As the world sickens further, as the air grows poisonous, as the oceans die™
*Their are physically invited into the story through sensation
Examples:
sound patterns like [kl] in “claimed™ “clear” “clock”™ mimic the sound of the liquid being dripped into their body
insistence on sight, which is the primary sense of reading
the pressure of the clock. reinforced by the hammering of the phrase “by the time,” materializes the
environmental urgency
*Human reason and understanding is destabilized — and so is anthropocentrism
Examples:
mystery or thriller > the information is provided “drop by drop™
opaque polysemy preventing any distinction between human and nonhuman entities (“limb”)
double-meaning words and misinterpretations in context (“to needle”, “compelling”, “root™) entail surprise and e
force you to go back and deeper into the text to adapt your vision = o
moving both backward and forward, you find yourself constantly decentered - g
*Parallels between the reader and the character ; - e
Examples: 3
both hostage to the text: silenced and manipulated
both puzzled: beginning in medias res: where are we? who are the characters? what is going on?
insistence on (limited) sight and sounds — senses called upon in the reading experience
the paragraphs mimic the pharmaceutical bags (“a dozen bags of clear fluid” / “Have I been clear enough?”)

> the text, like the scientist’s drug, is a pharmakon — both poison and cure
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SAME SHOW.
DIFFERENT CATEGORY.

TONIGHT

WITH JOHN OL I3ER

FYC | mex
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The end of A world : social fragmentation

1. What would be the definition of envir tal racism from the show?

2. Quote data supporting the exi of envir tal racism in the US:

3. What is the key data proving the exi of envir tal racism according to the journalist? Explain.
4. What are the medical i of air poll

5. Can you remember what is the joke corresponding to the photograph and how it is related to the subject?

AVERAGE EXPOSURE
TO AIR POLLUTION

BLACK

[ =3 03
= AMERICANS
i : Athane. > Eueking
. - ! $200,000 $25,000
i
B
|
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8. Give your own definitions for “redlining.”

9. What is the information that shocked you the most?

10. Now come up with your own jokes for the following information.

Companies planned for their oil pipeline to take a very deliberate path through Memphis, winding down to South Memphis, cutting
through several historically black communities while a more direct option existed, that would cut through predominantly white
wealthier neighbourhoods, such as Germantown and Collierville.

Environmentalism clearly shouldn’t just be about protecting wild spaces. Humans do need protection too.

Federal law doesn’t require its agencies to tell tenants a unit is located in a dangerous site: the places are classified, but the people at
risk are not notified.
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1. What would be the definition of environmental racism from the show?
We all suffer from exposure to pollution in this country but some significantly more than others

2. Quote data supporting the exi

African Americans are 75 percent more likely to
Black Americans are nearly three times as likely

of envir

tal racism in the US:

African Americans are exposed to 38 percent more polluted air than White Americans

live in communities that border a plant or a factory
to die from exposure to pollution

3. What is the key data proving the exi

Air pollution is one of the driving factors behind

of env

4. What are the medical consequences of air pollution?

conditions like heart disease, asthma and death

5. Can you remember what is the joke corr

202
AVERAGE EXPOSURE
TO AIR POLLUTION

BLACK
AMERICANS
| EARNING

I $200,000
i)

WHITE
AMERICANS
EARNING
$25,000

>

ding to the ph

P

Etsy (G

1 racism according to the journalist? Explain.
The disparity in exposure persists even when controlling for income. One study found that on average Black Americans
thousand dollars were exposed to more air pollution than White Americans making twenty-five thousand dollars

earning two hundred

-aph and how it is related to the subject?

| 01:42 Racism is one of the few things in this country
more powerful than money

02:38 It seems when white people don’t want
something any more they either dump it on minority
communities or sow a hummingbird on it and list it

on Etsy as handmade vintage — that is garbage

04:48 Some things are just weird coincidences, Like
John Adams and Thomas Jefferson died on the same
day but the possibility to overlay redlining maps with
industrial maps is no coincidence

of envir r

6. Quote one sp 1 or geographic ¥

community calle

d Uniontown

In 2008 there was a massive spill of coal ash in Tennessee (Harriman) with tons of toxic waste dumped into a largely white
community. They removed 4 million tons of it. The bad news is it was then dumped 300 miles away in this largely

black

Morgane AUGRIS
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The zip code 1s the most important : r: zip cod not created equal. You can fin z e
that are ent to e othe: i X[ Cy Fears ending sinth o
\““\qdi@ and in tha g od

In Dallas,
Black and E

: a redlining map from the 30s-4

n folks are forced to live side by sid

verlay that on a current industrial map of Dallas: it will show
ndustry

des to seg

re white people lived. And the areas where they coulc

e It was gate housing

8. Give your own definitions for “redlining.”

linin,
2 minerities

s a discriminator; tice in which financial services are withheld from neighbourhoods that have significant numbers of racial and ethnic

9. What is the information that shocked you the most?

10. Now come up with your own jokes for the following information.
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